Algebra - Questions from Section 7.1 to 7.7

April 10, 2013
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@3) 9. Sketch the graph of the function f(x) = \%x + 3| and hence find the solution to
‘ the inequality |%x + 3| = 3.
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a linear modulus =
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7. Simplify ecach of the following, writing your answers with positive indices.
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11. By using the substitution y = 3*, find the two values of x such that(3)3* + 3 *=4 and
verify each solution by substitution into the original exponential equation.
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(?-?) 14. By letting 2* = y, solve the equation 2*'1 + 2(2°¥) — 5 = 0.
note: 9%*' - (2)2* equahon i (2)2" + 9-(2"‘)—(-:-0
¢ 2=y 5 2y +2(L)-s=0
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6. Prove that for all real values of x,

@5) (i) x> +6x +9=0 (i) x* — 10x +25=0 (iii) x> +4x +6=0

(iv) x> —6x + 10=0 (v) 4x> + 12x + 11 =0 (vi) 4x? —4dx + 2 = 0.
This is a perfect square (\) x7.+ 6)( + q 2 o)
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6. Prove that for all real values of x,

(i) x> +6x +9=0

@)
(iv) x> —6x + 10=0

This is not a perfect square Q'“)

write in complete square form

Find a related
complete square

%:2}‘

note its value is always > 0

(i) x2 — 10x +25=0
(v) 4x?> + 12x + 11 =0
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(iii)) x? +4dx +6=0
(vi) 4x® —4dx + 2 = 0.

(x+2)°
X* +4x+Y%

= XTA4X 4y +2

= X*+4x+6 =

O
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6. Prove that for all real values of x,

() 2 +6x+9=0

€2
(iv) x> —6x + 10=0

This is not a perfect square dv)

write in complete square form

Find a related

complete square
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note its value is always > 0

(i) x> — 10x +25=0
(v) 4x? + 12x + 11 =0

(iii) ¥>2 +4x + 6 =0
(vi) 4x? —4x + 2= 0.
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6. Prove that for all real values of x,

Gs © X4+ 6x+9=0 (i) x2 — 10x + 25 =0 (i) x> +4dx +6=0
(iv) x> —6x + 10=0 (v) 4x?> + 12x + 11 =0 (vi) 4x® —4dx + 2 = 0.
This is not a perfect square () x4+ 2x +1) 20
4 X% x 2x +U04 20
write in complete square form 3,
X + 2
Find a related 2-
complete square X xl 2 % (x + 3/7-)
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note its value is always > 0 Sma_ ( ¥ 4 3/,_)7' -+ LZ 2 s

6. Prove that for all real values of x,

@5) (i) x> +6x +9=0 (ii) x> —10x +25=0 (iii) x> +4x +6 =0
(iv) x> —6x + 10=0 (v) 4x> +12x + 11 =20 (vi) 4x? —4x + 2 = 0.
This is not a perfect square q,x-'- - & X +72 2o
& Xt—X 4l 2o
write in complete square form
X
Find a related A
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